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6 marks

3. Any correct response in regard to the passage read

a) THE EFFECT OF SOIL EROSION ORWHATEVER RELATED TITLE

ACCORDING TO THE PASSAGE

b) A student should explain according to the passage

c) A student should explain according to the passage

d) i) Provision of education to the people

ii) Environmental conservation

iii) Management of water in the dry season eg. Dug canals and made dams

iv) To divide land after its boundaries and prevent it from being washed away by the floods

9 marks

4. i) A story is written by Clara

ii) Some flowers are being picked by them

iii) A book has been lost by me

iv) The beggar was bitten by the dog

v) My younger brother will be gone with by them tomorrow

vi) Insufficient water is had in our house

9 marks

5. a) Ability



b) Willingness

c) Command

d) Request

e) Obligation

f) Challenge

9 marks

6. i) Eliah hurt his leg yesterday

ii) He has eaten the food

iii) We shall have a visiting day next month

iv) We had eaten the food when the light went off

v) She is speaking English well

vi) I used to cry loudly when i was young

9 marks

7. i) However intelligent she is, she won’t pass the exam

ii) Now that i am broke, all my friends have abandoned me.

iii) Scarcely did i arrive at the airport when the aeroplane took off.

iv) Mogisha is rich; nevertheless he lives a stressful life

v) They won the match despite having a very weak team

vi) Magembe will not pass the exam unless he studies hard

9 marks

8. a) Michael

b) Because he has another commitment on the same day

c) Michael, because in the situation the name Michael is mentioned

d) I suggested him not to waste his time with girls

9 marks

9. i) What is the poem about



The poem is about a man who is complaining about his woman who seems to be involved on
commercial sex

ii) What are the types of the poems?
The type of the poem is an open free verse poem as it has variation of the number of the verse
in the stanzas.

iii) Who’s is the persona in the poem
The persona is a husband of dada who is exploited by his wife. (dada)

iv) What is mood of the persona?
The persona is sad or unhappy because his wife does not have true love to him, instead she
loves money.

v) Comment on the structure/form of the poem?

The first stanza has four verses

The second stanza has five verses

The third stanza has four verses

The fifth stanza has five verses

The sixth stanza has six verses

@ 3 marks = 15 marks

10. Introduction; definition of the key term BURNING ISSUES

From the novels, that has been done show then burning issues as follows

⮚ Witchcraft
⮚ Widow inheritance
⮚ Alcoholism
⮚ Misuse of power
⮚ Bride price
⮚ Betrayal
⮚ Bad customs and tradition
⮚ Conflicts

⮚ Introduction 1.5 marks
⮚ Main body 12 marks
⮚ Conclusion 1.5 marks

11. UNANSWERED CRIES



⮚ The cry of bondo women (They want Olabisi to be circumcised. Olabisi wins the case hence
their cry is not answered

⮚ Makalay’s cries, (She is olabisi’s mother, she struggles much for her daughter to be
circumcised, her daughter wins the case and Makalay’s cry is not answered

⮚ A cry of a young girl. Olabisi saw a young girl at the bando women camp who struggle to run
away so as she cannot be circumcised. Her cries and protest is unanswered and finally
circumcised by force

⮚ Eddy’s cry. After revealing the secret olabisi left him, eddy tries to persuade her to forgive
him but his cries remains unanswered

⮚ The cry of Bondo spirits to circumcise Olabisi

PASSED LIKE A SHADOW

⮚ Vicky’s life. Passed like a shadow due to the superstitious belief. The witch doctor used a
single knife to pierce clients hence she is affected with AID that lead to death

⮚ Adyeri’s life. Passed like a shadow due to his behaviour of a being a womaniser.
⮚ Atwoki’s life. He found himself with so many sexual partners in Kampala and in the end he is

infected with AIDS hence passed away like a shadow.
⮚ Birugi’s life. Also passed like a way due to her behaviour of having many sexual partners

⮚ Introduction 1.5 marks
⮚ Main body 12 marks
⮚ Conclusion 1.5 marks


